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Drawing Conclusions -
Vertical, Supplementary, & Complementary Angles
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Supplementary Angles: <S ~p\'\d Qéé
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Given:Lines m & k intersect.
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Option #2:
Supp. Theorem 1: = £’s have = supplements.
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Options #3:

Supp. Theorem 2: 2 £’s supp. to the same £ are =.
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Given: ABand CDintersect
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Option #4:
Supp. Theorem 3: 2’s that are both = and supp. are each 90°.

Given: Line m & k intersect.
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**Complementary Angles work exactly the same as Supplementary Angles!
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Complimentary Theorem 1: = £’s have = complements.

Complimentary Theorem 2: 2 £’s complementary to the same 2 are =.



